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1.

Naphthalene, O pEg, is most soluble in which of the following solvents
{A) water

{B) alcuhol

(C) il

(M) acetic acid

(K] bensene

OF the following, the compound posscasing vptical isomeriam is
(A} CHgeCH,OH

(B} CH,OH*CHOHSCHOH

) mlgl"g

([N CClaBrFs

(E} CHy*CHOH*CyH;,

The moat probable structural formuls for the compound whose empirical formula ia
("3Hgl), and which can reduce Benedict's reagent, is

(A) CHa#CH,+CHO

(B) CHo=CHsCHOH

)
'lfffII-:,-Q-IC'ﬁl-I1

(1} CHaeOeCH=CH,
(E)

a6

:

Ha

Select Lhe moat resctive toward Brg in the presence of FeBrg:

1A)
OCHg

{B) i) {In (E)
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5. Select the moat reactve toward agueons Na(OH:
(Al (B (C)

Oooe opoes

(D) {E)
o —@-Gﬂa QGHEM

. Zeloct the moat easily cleaved by HBr:

(A (B () {I
e (9 (D

. The strongest acid among the following iz
(A) p-nitrophenol

(B) m-nitrophenal

{C) u-nitrophenol

{3 p-chiorophenol

{EY m-chlorophenol

) )

(B
H{o—C— B
o JE—

. Acetic acid may be made by the

(A} oxidaton of ethyl aleohol

(B) destructive diatillation of soft coal
(C) polymenzation of ethylens

(D} esterification of propioniv acid

(E) reduction of aretone

. Fithyl aceloaeetute is prepared from ewhyl acetate by the
{4) Benzoin condensation

{B} Acyluin condensation

{(7) Claisen conden=ation

(07 Aldal condensation

(E} Dieckmann eondensation
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11.

12.

i3

14,

Which of the following iong will be most effective in an 842 displacement on methyl
hromide 7

(A CoHe(¥

(B} HO

() CgHpr

(1) CHZ0OoO

(E) NOg

Hetonea react with primary amines to give
(A) Urens

(R) {3uanidines

(C) Amides

(D Sehilf bazes

(E) Ovimey

The Markovnikoff Hule is used in connection with
tA) slereochemiatry of elimination reactions

(B} stability of free radicals

(C} activity of engymes

(I3 addition of acida 1o double bonda

(K] electrophilic arumatic subabtution

Which of the following would react fz=test with N-bromosuceinimide ?
{A) Benzene

(B} Methgne

(C) Cyelopropane

(T% Pyridine

(E) Toluene

The reaction Hol) + (2 gHgo(h | —+ 400y + 40sHzOH i3 an example of
{A) fermenlalion

{B) estcerification

{C} saponification

(D} polymearization

{E} photolysis
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CHyNHs in water will act as a{n)
(A} wend

(B} bape

() ester

{1} aalt

(Y ketone

The =low partial oxidation of ethyl aleohol results in the oemalion off
(Al acetone

{B) acetic acid

{C) butyric acid

{1 prapionie acid

(E) acetsldehyde

A respent nsed in testing for a carbonate io
[A) HaB

(B} ClaClg

(CF HCL

() NaOH

(1} MgClg

Homogenized milk is a colloidal suspension from which fats and proteins may be
precipilated by

(A) adding some ethancl

{B} allowing the milk to sattle

() Allmation

{I}; pasteurization

(B} adding an acd

The simplesi amino acid is
{A) cystine

(B) alanine

() ghyeine

(M) histidine

(1£) valine
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20, Of the following substances, the one that wonld canse blue littius to turn red ia
CAY (CgH O by
(B} CHyCHO
() CHyOCH,0H

(D CyaHa2900
(E) CHYCOOH

21, A compound whoze atoms are superimpoaable on their mirror imapes even though
they contain aeytmetric carban atome is called
{A} amcese compound
{B} un erythrm isomer
{C} a threg isomer
(DY a glyeol
(E) an put¢ftic compound

22. Which of the following reagents would distinguish eis-cyclopenta-1, 2-dial from the
trans-1somer ?
{4} Acetone
(B Qzone
(C) Manganese dicxide
: (I Aluminium isepropoxide
! (E) Lithium aluminum hydrid

23. Which of the ollowing amino acids would give a colored product when ita HCI
, solutinn is treated with ninhydrin ?

I {A} proline

i {B; tryptophan
|

I

Sl mh ke o m—

) tpyrosine
{13 alanine
i (1) glyrine
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24. The product of the reaction:

QGmH?GHEGH; + XNH,-S + 5 E— ? s

(B}

(A}
NHz
@C _ﬁ?_ﬁ;% @—EHE MICH 3)H = CHa,

TN

{2
@—N=13={] @—cmcmm&
(E}
DGWECHEGOMH;

2h. How many siructural isomers [Kekule astructures only] does bromodichlorwbenzang
have ?

(43 3

(B} 4

() 6

(I 6

{E) 7

I} [=Galactose has the following structura end its cyclic forms, a-D-
galaclopyranose and P-D-galactopyranose, have specific rolations of +15%0.7° and
+32 5°, respeclively. When w-n-galactose is dissolved in solution in the presence of
trace amount of arid, the specific rotation gradually decreases to a valuc of +80.2°

Bew do you aceount for the fact? (5%,
CHO
H———0H
HO —/——H
HO ——~n
H—}—OH
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lll.  Predict the major product of cach reaction. {20%)
o °
HI-
ey
(2] ArCOLH KM, LiaiH,
> & H,0 2 o &=
iR ) Brq
(R)-2-Phenyipropanamide ——-—p- (K}
MNalt]

4
3 @_'lj FHaCHa 14 150°C
|
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V.  Propose a rational mechanism for the following reactions. (15%:)
{A) a T o
Chy N KOH
+ H;ﬂ:ﬁ—c CHy —
(B) Br;
iruny-2-Bulene =~ ppas farocd gt
i i CHy0H E"‘
C..,,Hs—ﬁ CH-CHaCHMy — e CyHy— — G GHCHY ey
gl OCH,

Z i
| CICH;CH,8CH,CH,CL + HyO0 ~————=  HOCH,CH,SCH,OH, OH

g NH.N H,

Y. Deduce the structure formula of the compounds based on the spectroscopic

CHy

data.  {1055)
(Al  Mnass ypectrum: M+ = B8.1
1% 3600 cm-1

3CNMR: & = 25, 27, 35, 74 ppm

IHNMR: & =0.9 ppm (3H, triplet, J = T Hz)
1.0 ppm (111, singlel)
1.2 ppm {6H, singlet)
1.4 ppm (2H, quaret, J = 7 Ha}

By CpHyBr
IHNMRE: &= 1.8 ppm (3H, doublet)
2.0 ppm (1H, yuartct)
7.3 ppmo (bH, singlat}




